Material / Materiaal

No. Plan Article / Artikel| Number
1 X002801 1994672 2
| 2 1992923 1
3 Y007805 1608554 (L) 1
Y007804 1608454 (R) 1
4 Y007803 1608300 1
5 Y006021 (L) 1573154 1
Y006022 (R) 1573254 1
6 Y006027 1572854 1
7 Y006408 (L) 15729 1
Y006411 (R) 15730 1
8 Y008159 F004273 1
9 |X002112 (M6x10 DIN912/8.8)] 1001491 1
10 M6 DIN125A 1001564 3
11 ™19 1001602 2
12 M6x12 1007000 3
13 | X003825 (M8x16 DIN912/8.8)[ 1001498 1
14 M6x12 1008492 3
15 1997460 (L) 1
1997461 (R) 1

Only left side depicted

L04 TYPE ECLIPS X4 /32

Plan No. / Plannr.

E000214/C

Scale/ Schaal: 1:5 |Drafted / Getekend | Verified / Nagezien |Confirmed / Bevestigd
Date / Datum 31/03/2005 | 24/01/2019 | 24/01/2019
Init. / Init. AB TT PJ




